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A=SYNCSVCD and A=SVCD default to a match limit (ML) of 1, meaning the 

SLIP will disable after 1 match.  

We don’t show the SDATA option on this SLIP.  SDATA is used to specify what 

general areas of storage are to be included in the dump.  If SDATA is not 

specified, SLIP A=SVCD or SLIP A=SYNCSVCD will use a default list of: 

ALLPSA, CSA, LPA, NUC, RGN, SQA, SUMDUMP, and TRT.  (Note: This list is 

slightly different for A=STDUMP or A=TRDUMP.)  I personally like to use the 

following list: SDATA=(RGN,CSA,LPA,SQA,ALLNUC,TRT,SUM,ALLPSA,GRSQ).  
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If these SLIPs are set specifying A=TRACE but GTF tracing is not active or has 

not been started with the SLIP option specified, the SLIPs will still be accepted 

and enabled.  SLIP will put out a warning message that GTF is not active.  These 

SLIPs can still match, even if the action cannot be taken.

Sometimes a debugger will deliberately leave GTF off if they have coded 

something such as: A=TRDUMP,ML=5 because they want a dump on the 5th

occurrence of something but don’t really care about the first 4 instances.
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A=SYNCSVCD and A=SVCD default to a match limit (ML) of 1, meaning the 

SLIP will disable after 1 match.  



10



11

REFBEFOR and REFAFTER are extremely powerful. We recommend using this 

option under the guidance of an experienced support representative.  
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Remember that ASIDSA indicates the address space that the private storage 

being monitored resides in.  This is *not* a filter for who actually overlays the 

storage.  JOBNAME or ASID must be used to filter on who is doing the alteration.    
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In this example, we’re assuming that GETSTOR+1B0 points to the return point 

from the GETMAIN.

If you accidentally try to enable both SLIPs simultaneously, SLIP processing will 

detect that SLP2 is targeted by SLP1 and will leave it disabled.  

A dynamic PER trap chain can consist of two or more traps.  The chain cannot be 

circular.   

When PVTMOD=(modname,x,y) is specified but the “y” part is omitted, this is 

equivalent to “y” = “x”, that is, the SLIP is targeting the single byte at offset x.  

The same is true for PVTEP, LPAMOD/LPAEP, and NUCMOD/NUCEP.
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There is one other SLIP symbolic: BEAR .  This is set up to be the Breaking 

Event Address from the Breaking Event Address Register.  This is the address of 

the last instruction on this CP to cause a branch or a change in linear flow of 

execution (e.g. PC or LPSW) prior to the PER interrupt.  
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A=IGNORE defaults to no match limit.

Note that an interrupt will occur on every instruction in this PER range, even 

though we are IGNORE-ing all but the first and last instructions!
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A=IGNORE defaults to no match limit.

Note that an interrupt will occur on every instruction in this PER range, even 

though we are IGNORE-ing all but the first and last instructions!
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